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cfh ldlt @)&^ c;f/ !^ ut] ;f]daf/ lbgsf] !@M#) ah] k|d'v >L ;'lgn k|hfkltHo"sf] 

cWoIftfdf eQmk'/ gu/kflnsf, gu/ sfo{kflnsfsf] a}7s egkf j8f g+= @ l:yt gof“ ejg 

Jof;Ldf lgDg pkl:yltdf a;L lgDg ljifodf 5nkmn / lg0f{o ul/of] M  
 

pkl:ylt             

!= k|d'v >L ;'lgn k|hfklt             

@= pk–k|d'v >L /hgL hf]zL             

#= j8fWoIf >L Zofd s[i0f vqL          

$= j8fWoIf >L xl/ k|;fb af;'snf           

%= j8fWoIf >L /fh s[i0f uf]/f          

^= j8fWoIf >L s'df/ rjfn           

&= j8fWoIf >L k|]d uf]kfn sdf{rfo{           

*= j8fWoIf >L xl//fd ;'jfn          

(= j8fWoIf >L ps]z sjf+           

!)= j8fWoIf >L dx]Gb| vfodnL          

!!= j8fWoIf >L /ljGb| HofVj           

!@= j8fWoIf >L nIdL k|;fb x\of}+ldvf             

!#= gu/ sfo{kflnsf ;b:o >L /f]zg d}of ;'jfn       

!$= gu/ sfo{kflnsf ;b:o >L 5f]/L  d}of ;'hv' -k|hfklt_    

!%= gu/ sfo{kflnsf ;b:o >L ;'lgtf k|hfklt -cjfn_     

!^= gu/ sfo{kflnsf ;b:o >L ;l/gf Bf]nf  

!&= gu/ sfo{kflnsf ;b:o >L s[i0f nIdL b'jfn      

!*= ;b:o ;lrj >L ofdnfn clwsf/L 
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ljifo M– 

!= kf+rf+}+ gu/;efaf/] . 
 

lg0f{ox? M 

!=  eQmk'/ gu/kflnsfaf6 ;+rflng z}lIfs ;+:yfx? Vjk OlGhlgol/· sn]h, Vjk sn]h ckm 

OlGhlgol/·, Vjk ax'k|fljlws cWoog ;+:yfg, Vjk df=lj=, Vjk sn]h / zf/bf sn]hsf clGtd 

n]vf k/LIf0f k|ltj]bg gu/;efdf k]z ug]{ lg0f{o ul/of] . 

@= gu/;efdf lg0f{o cg'df]bg, ;]jf s/f/, clwsf/ k|Tofof]hg, ;+u7g :j?k / b/aGbL, sd{rf/Lx?sf] 

j[lQljsf;, ah]6 /sdfGt/0f k|f}befjL n]vf k|0ffnL, of]hgf hf+rkf; tyf km/kmf/s, jflif{s vl/b 

of]hgf / clGtd n]vf k/LIf0f k|ltj]bgaf/] k|:tfjx? k]z ug]{ lg0f{o ul/of] . 

#= lgdf{0f ;ldltsf] lgDg lg0f{ox? cg'df]bg ug]{ lg0f{o ul/of] M  

ldlt 2076.03.16 ut] lgdf{)f ;ldlt a}&s lg)f{o 

s_ k]ZsL km%\of{}^ ;DaGwdf 

qm=

;+ 

of]hgfsf laj/)f j*f 

g+ 

n=O{=/sd  l/=n=O{=

/sd  

d"Nofs+g  v'b vr{ k]ZsL e'QmfgL 

lbg'kg]{ 

ah]̂  s}lkmot 

1, j*f sfof{no ejg 

lgdf{)f sfo{ -bf]>f] 

r/)f_ 

1 10,117,503.79  11,169,745.00  9,463,507.93 8,000,000

.00 

527,826.

51 

gkf sfo{ 

;DkGg 

eO{ k]ZsL 

km%\of}̂  

2, btfqo :s'n blIf)f 

tkm{ uNnL af^f]x?df 

O{̂ f %kfO{  

9 284,813.42  284,813.42  257,743.01  257,743.

01 

gkf sfo{ 

;DkGg 

eO{ k]ZsL 

km%\of}̂  

u_ e'QmfgL ;DaGwdf  

1, a|Dxfo)fL 

ax'pb]Zo 

ejgsf] 

lkmlgl;· sfo{ 

cGtu{t jfn 

p&fpg], Knfi^/ 

ug]{ >d &]Ssf 

Hofnf e'QmfgL 

9 zfGtL sG: <̂S;g sDkgL 

k|f=ln= 

   1,148,4

86.01  

gkf vr{ 

;dy{g 
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 3= n=O{= :jLs[lt ;DaGwdf 5nkmn x'+bf lgDgfg';f/ ug]{ lg0f{o ul/of] M  

qm=

;+ 

of]hgfsf laj/)f j*f 

g+ 

n=O{=/sd  l/=n=O{=

/sd  

d"Nofs+g  v'b vr{ k]ZsL e'QmfgL 

lbg'kg]{ 

ah]̂  s}lkmot 

1, d+un tLy{b]lv /fd 

dlGb/;Dd vf]nfsf] 

df^f] lgsfNg] sfo{ 

3 28,90,463.41      ljkb 

Joj:yfkg 

 

 

 


